KEIAE 103 BEE(S)HEABREZHEAE
HRptE  EBY pra) BT AR A % V4R
i AkER AUMSFACHEMAER S ATEAFR ATRERHES -

(1) Determine the voltage at the nodes in Fig, 1.
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(2) For the circuit in Fig. 2, use the superposition theorem to find i .
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(3) Find the Norton equivalent circuit of the circuit in Fig. 3.
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(4) The switch in the circuit in Fig. 4 has been closed for a long time, and
it is opened at ¢ = 0. Find v(?) for ¢ > 0. Calculate the initial energy stored

in the capacitor.
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(5) Find v,(?) in the circuit of Fig. S. Assume V, ©)=5YV.
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